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MATHEMATICS

Total Questions : 47
Time : 3 Hrs. 15 Minutes |

wdrenelt & o Tew -
Instructions to the candidate :

1. SRl e AT Wi E W S
Candidates are required to give their answers in
their own words as far as practicable.

2. R i T W R gu % quiw Fafee
T

Figures in the right hand margin indicate full
marks.

3. W ww sfE €
All questions are compulsory.

4., ITA W wUD A JUEWE IeE-HET H
&= |

While answering the candidate should adhere to
the word limit as far as practicable.

5. TH WAUA & UgA & tew 15 Tuee @ sfaiw
T fear w3

15 minutes of extra time have been allotted for
the candidates to read the questions.

Total Printed Pages : 16
| Full Marks : 100
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Sl. Code :

MATHEMATICS 2
HE I A ¢ |
Choose the correct option .
1. ﬁ:g'{z,syqd(-z,sjé?a'?aaﬁgﬁaﬁ
(%) 3 @) 4
m J3 () 5. 1
Distance between the points ( 2, 3 ) and
(-2, 3 ) will be
(@ 3 (b) 4

€ 3 d) 5.
2

2. df% BIH W g(x)=x"-x+4 F LIS

3.

o, B &, T o+ B HH
(=) -1 (@) 4

(M 1 (=) 0. 1
T a and B are the zeros of quadratic

BiharPaper.com

polynomial g(x) = x% - x+4, then the value
of o+ will be
(@) -1 (b) 4

A9 1 ) oO.
g % BT 4 : 9 F U F F1 T

(F) 3:4 (@ 2:3
(Tr) 5:3 (g) ?ﬁ@aﬁ’%qﬁ; 1

BiharPaper.com 2
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Sl.C-Odc: 3

of areas of two €

MATHEMATICS

ircles is 4 ° 9,

he ratio : Vo C
{lr}g:etllc ratio of thetr radiul WI;I be
: (b) 2:
. g ’ ; (d) none of these.
(c) :
A sec20—1 HTAE 2 y
- (=) cosec20 (@) sin“6 1
(T {anzﬂ (=) cot? 8.
J BiharPaper.com
sec20-1 is equal to 2
(a) cosec’d (b} sin“®@
2
(¢) tan®® (d) cot?0.
D afc 1 || m @, 7 d 1 A &
— 1
B 3d + 50°
2d + 20°
— T
\_@)/22" @) 30°
(T[) 45° (‘E[) 80° 1
BiharPaper.com 2 [ Tum ver
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8. & AP. ¥ wum SN .
If 1 || m, then the value of d will be e .\ T2 T WE W 3 A, e
/ A.P. & AT U 2
! ;
3d + 50° (F) 2,6,9 (@2, 5,8
(M 2,6, 10 @ 2.5 9. .
2d + 20 - \_Nher} first term is 2 and common difference
/ ?:qﬁ 11:1 an A.P., then three terms of the A.P.
. e
(a) 22° (z] 28° BiharPaper.com (a] 2, 6,9 b) 2.5 8
_{C) 45, d e () 2,6,10 (d) 21 5, 9
6. AZ EFE U &, 79 P(E)+P(E") & 9 &I - ) \ , 5, 9.
r\-/ (’qﬁ') 2 : 1 o ) Slnz B COSE ST HE ' Bihar}"aper.com
(m -1 () wHEHE TR =) 2 JE)’O/
If E is an event, then the value of (m -1 (=M 1. 1
P(E)+ P(E'") will be
. T 1l cos T wi
@ 2 b 1 he value of sin 3 cos7 will be
© -1 (d) none of these. {a) 2 (b) O
2./ 3,4,7,2,7,6,7, 9 F 9w & L @ 1
(= 2 (@) 3 N Gjﬁﬁmmmm
| ,,U:f’)/7 (®) 9. | ' (®) ygxar’ (@ Sggxmr
The mode of 3, 4,7,2,7,6,7,9 will be Gn) € 2 2
(a) 2 (b) 3 Hg X’ () TR 1
. d) 9.
{C] 7 { ) . BiharPaper.com
2 | Turn over
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MATHEMATICS 6 Sl. Code : | 813
Area of sector of angle 6 will be
0 3 8
(a) 570%™ (b) T
B 2 0 2
(c) 576%™ (d) 360 <™

11 J g P(3,-4) B R oo BT

Distance of P ( 3, — 4 ) from the origin will

|5 LI .
12)AP. 2,58, 11, & Q8 T wooeeae,
Rl ©
9th terrn of an AP. 2, 5, 8, 11,
| & T . BiharPaper.com
. AR T W@ +
13. &1 o= = 5 1
Class mark = upper 11m1t2+ ...............
14. f&dt g9 & 9@ g ¥ 99 W @t mh et e
............. . BX € 1

The tangents drawn from any external point
on the given circle are ............. .

15. & g4l & HIFA 14 : 9 & FEHE T ¥l TR
Frowmall 1 SR ... el BT 1

BiharPaper.com
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MATHEMATICS

If the ratio of areas of two circles is

11;.4 : 9, then the ratio of their radii will
€ i,

16. 3¢ J3tan@=1,A 0= S0 1
I V3tan8=1,thenO= ...

17. ais fEdE wHEo o —bxta=0 % A
o W BE AT o +p2 = gr+298 +B %

I o and B are _the roots of
quadratic equation cxz-bx+a=0, then

2 2
a +P = BiharPaper.com
A8. AR 20=Z &, 7 sin0=..._ ' ... 1
/l -
If 28:%, then smBzI8 .
A9. @ a1 F Tt fag (4, -5 ) % = = Om
..... =3 BP 1

The value of the ordinate of a point

( 4, -5 ) situated 'in Cartesian plane will
be ...

20. U GATR S 4, 10, 16, 22, 28 & §& 3

b !

The common difference of an A.P. 4, 10, 16,
22, 28 will be

..................

BiharPaper.com 2 [ Turn over
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813 g

24, UF §HEg T ABC @t 95T 2a 1 3H ¥

W I hiTey | 2
The side of equilateral triangle ABC is 2a.
Find the perpendicular distance from

vertex.

g O A W g9 W W (@ & o
24 Gl T Q B FR G 25 VT €, o g A
Toroar T &4 9

From a point Q the length of tangent to a
circle is 24 cm and distance of Q from
centre is 25 cm. Find the radius of the
circle.

faail (0, 0) 3 (36, 15 ) & @4 & T T
a,}—jf | BiharPaper.com 2
Find the distance between points ( 0, O )
and { 36, 15 ).

Jo T OF AE WY, Ak B A(2,3), B(4, k)

qT C (6, -3 ) W@l 2
I points A (2, 3), B(4,k)and C(6,-3)
are collinear, then find the value of k.

2 [ Turn over
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Us gH & Uiy &1 gEhe fd fergent ity

2

\-}8.

22 ¥4t §

Find the area of quadrant-of a circle whose

circumference is 22 cm.

29 @Tﬁﬁaﬂmﬁﬁﬁiﬁizﬁﬁwozaﬁi

30.

. A.P. 21, 18,

=g S U AR ST T 81 AR Wt onan A
Efﬁ' | BiharPaper.com 2
The diameter of a sphere is 6 cm. By
melting it a wire of diameter 02 cm 1s
made. Find the length of wire.

af sin 3A = cos( A —26°), FE 3A TF R
& A A % 9 T8 HL 2
If sin3A =cos(A~26°), where 3A is an
acute angle, find the value of A.

15, ... FHAT-W IR 818 2 2
Which term of an A.P. 21, 18, 15, ... is=-81 7
fag &1 fh 3+ /5 TF AT T € 3

Prove that 3+ J5 is an irrational number.

o}

BiharPaper.com
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11 MATHEMATICS

33,srfawqqfaﬁﬂﬁﬁm%@haﬁwwﬁ

34.

& H
3x -5y =203 x+2y=3. |
Solve the following pair of linear equations
by substitution method :

3x-5y=20and x+2y=3. ‘
3 A7 g UHE HE: 4 T 1€ 3
Find the quadratic equation, whose
sum and product of zeros are 4 and

1 respectively.

BiharPaper.com

3

a5 @ HEna H F 26 ¢ AR UH gE gEl Ten

BiharPaper.com 3

A T § 1 I T B |
The difference of two numbers 18 ?;6 and
one number is three times of other. Find the

numbers.

36, € TE AFE H LE W ® el LM || FG. 3
E

L M
7-2 / \4@
F G

BiharPaper.com 2 [ Turn over
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Find LE in the pj
g Z:en figure where LM || FG.

F

i P - * G
37. wm—"gmﬁ%mmmaaﬁ,ﬁﬁﬁaﬁ(-z,'m

- 38.

39.

Hm(4,-3)$“rfhaﬁaﬁ%@v§ug$‘rzz3%
ST T faafaa war &
F.in.ci the coordinate of that point, which
divides the line joining the points -1, 7)
and (4, -3 ) in the ratio 2 : 3.

T T H OFEHT W oAE 3 ¥ IH
iR T it 3
Find the probability of getting a number
greater than digit 3 in the throw of a dice.

% coto =L @ @y LL+sin0)(1-sing)
g (1+cos0)(1-cos0)

o FEe 3

BiharPaper.com 3
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13 MATHEMATICS
]{ cot = Z.

(1+ sin0)(1-sin6)
(1+cos0)(1~-cosb)’

40, T89g &1 & Sot0—cosh _ cosecd -1
cotl+cos0  cosecO+1"

value of

Prove that S0t8—-cos@ _ cosecf-1
cotl+cos® cosecO+1"

41, 9 7% iimel = oy 18 ¥, il I¥™ S=Ral 7

Gl BiharPaper.com 3
=T IFOA 131-13 | 13-15 | 15-17
SEiwmEE | 7 6 9
17-19 | 19-21 | 21-23 | 23-25
13 7 5 4

The mean of given data is 18. Then find the
missing frequency :

Class interval 11-13 | 13-15 | 15-17
No. of children 7 6 g
17-19 19-21 21-23 | 23-25
13 I 5 4
BiharPaper.com 2 | Turn over

43.

44.

45, TH FEUT e WY a9 U 50 Wil H oFr

E ] ﬁ
- BiharPaper.com

If median is 12 and mode is 18 of any data,
then find mean of the given data.

B 4 ol o oF gu & rewmve 9 dvwe
A H, HEE B 300 3 @ @ @ S
TSUEUS T SAE o TR Y | 5
Find the area of sector having 4 c¢m radius

and 30° angle at the centre of given circle:
Also find the area of corresponding major

~ sector.

TRt Tt § & =Y
x+2Yy -4 =07 2x + 4y -12 = 0,

Solve by graphical method :
x+2y —4=0and 2x+ 4y -12 = 0.

BiharPaper.com

TH @ e v R R ¥ R & oY R
W & I o Rae Tl & 3w S s

30° a4 45°%,ﬂisi@rwmaﬁfméwaaﬁq 5

T
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ST T 30° ¥ ﬁ?ﬁa:rawﬁﬁ"iﬁﬁﬂn%

WHWWGDQ%IﬁWSUIﬁﬁ

A vertical flag rod and a 50 m high tower
are situated at same horizontal ground, The
angles of depression of the top of the tower
from top and foot of the flag rod are 30° and

45‘? respectively. Find the height of the flag
rod, -

BiharPaper.com
OR
The angle of elevation of the top of building
from the foot of a tower is 30° and the angle -
of elevation of the top of tower from the foot
of building is 60°. If the height of tower is
S0 m, then find the height of the building.

wﬁﬂwfr@w%ﬂmw dret T
3 31 el Wt o ) fag W e e 2,
a fog et = gAe. wgom O faafee s ¥

fag =t s
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47.
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e
In a triangle, a liné drawn para.tlllel t‘o ?io
side to intersect the other two s@es 12 o
distinct points, divides the two sides

same ratio. Prove it.

ek =) e 1 O € | A

Wgﬁ‘ﬂ;{aqﬁl BiharPaper.com 5
rgar |
i i Frge 1 gl A TR A

Construct a circle of 3 cm radius. _Colréstruct
an equilateral triangle inside the circie.
OR

Draw a circle inside an equilatergl triafngiz
of sides 5 cm which touches the sides ©

triangle.
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